032R9500

INSTRUCTIONS

EVR 2 - 22, Normally Closed (NC)
EVR 6 - 22, Normally Open (NO)

CFC, HCFC, HFC ——
- =4
EVR 2, EVR 4, 6, EVR 6,
3 (NO) 8 10 (NO) 10 (NO) EVR 15 (NO)  EVR 15, 20 (NC) s 1
Yellow/
Green
~ a.c
N
a.c.
EVR 2, EVR 4, 6, EVR S, EVR 15, 18, (il
3(NC) 8, 10 (NC) 10 (NO) 20, 22 (NC) 12Wa.c.~
20 Wd.c. -
r—[l] 9Wa.c. ionF T max. 40°C
EVR 2 & (105°F)
t max. 8B0°C
10/12 Wa.c.|rsz] |y (175°F)
t max. 50°C
20wWd.c. [fed]l]y (120°F)
t max. 55°C
E 10 W a.c. (130°F)
Htmm_—4o°c (-40°F)
= Min. medium temperature: —40°C (—40°F)

Max. medium temperature: 105°C(221°F)
Max. working pressure:EVR2—10 PB=35bar
Max. working pressure:EVR15—-22 PB=32bar

Max. opening diff. pressure (MOPD):—

DANFOSS
A32F173.14

A32F158.12

DANFOSS

A32F277.14

DANFOSS

EVR |Nm |kpm|ﬁ—ﬂbs|Torx size
2-3 |1.4 |O.15| 1 | T 15

DANFOSS
A32F145.11

Max.700°C Max.150°C
(1300°F) /  (300°F)

© Danfoss A/S 184 RI.3A.B6.00 02 - 2000

032R9500



EVR 15 - 22 (NO)

EVR 6 - 10 (NO) (D

EVR |Nm |kpm|f1—|bs |Tor>< size

1.4
2.8
12

4,6,8
10,15,18
20,22

0.14
0.3
1.2

1
2
9

T 20
T 25
T 40

185




032R9639

INSTRUCTIONS

EVR, Normally Closed (NC)
EVR, Normally Open (NO)

R12, R 22, R 502
mjt&‘.
[T} '% §
g a.c.~v
N e
- a.c.~v
NB EVR 15 (NC) EVR 15, 20, 25 (NC)
U
12 ?:] 5
. § a.c.~
= ‘
LI
Edana [ et
12Wa.c.~
EVR 2, 3, 6 (NC) EVR 6, 10, 15 (NO) EVR 25 (NC) 20Wd.c. —
9 Wa.c. tmax. 40°C
j—m w2 [N (105°F)
y t 80°C
== 10/12Wa.c. ' ii mux.(wsoF)
C 01 ] E]@;/: I 2owde. {2 | Jar T (Boer)
. 1\ todax, 55°C
(130°F)
9 H tmin=40°C(-40°F)
o ¢
Min. medium temperature: -40°C(-40°F)
A Max.medium temperature: 120°C (250°F)
Max. operating pressure: 35 bar eff (500 psig)
Max. opening diff. pressure (MOPD):—€_) g
- Ptest Max. : 46 bar eft (650 psig) g
gr."r"l_:suumx 'me no. §§;
w C—3-V12%(a.c) ) e
Hz me_w ad
@@E\Hz
Max, 700°C Max. 150°C & m
(1300°F) |
32F0180 32F0170 32F017
N L
B BN xe
no. B8 no BB
o KistFise — RLO3.A1.00 11-1983

186

032R9639



DANFOSS
32F1401112

EVR6 :32F0183
EVR10 :32F 0185
EVR15 :32F0187
EVR20 a.c.:32F0189

EVR 20 d.c.:32F0189+
32F

EVR6 :32F0172
EVR10 : 32F0173
EVR15 : 32F0174
EVR 20 : 32F0175

REL
EVR 15,20

Egi QI&\EVRS :M4x10
EVR10,15:M5x15
EVR20 :M8x16

EVR 6, 10, 15, 20 (NC)

DANFOSS
32F119,10

DANFOSS
32F139 1212

EVR 6 :32F0184
EVR 10 :32F 0186
EVR 15 :32F0188

EVR 6 :32F 0172
EVR 10:32F 0173
EVR 15:32F 0174

Eﬂ Q,, TEVR6 M40
——EVR 10,15: M5x15

EVR 6, 10, 15 (NO)

DANFOS%
32F14112.

i

32F0190 32F0176

10mm

— |
NN

 Nm 10 A=

EVR |Nm|kpm | ft-ibs
23,25[14]015] 1

Nm [ kpm [ft-Ibs

14
28
12

0.15
0.3
1.2

1
2
9

DANFOSS
32F 135, 1t

DANFOSS
32F11Z 12

EVR 25 (NC)

DANFOSS
32FN4.1

187




INSTRUCTIONS

EVR 2 - 22 Normally Closed (NC)
EVR 6, 10, 15 Normally Open (NO)

032R9522

032R9522

Refrigerants:
HFC, HCFC, CFC
Valve, NC version Valve, NO version Coil
m Conduit coil
|
=l =10
EVR 2, 3,4 S
6, 8, 10 (NC/Flare) EVR6,10(NO) | Note: tube
construction (= ‘\1’_—
Ol
Junction box
(| WP || =
—O— (] =
EVR 2, 3,4,6,8, 10 EVR 6, 10, 15, 18, 20, 22 EVR 15 (NO/Solder)
(NC/Solder) (NC/Solder)
Mounting position Operating conditions
° Max. working pressure (MWP) [ EVR 2, 3, 4, 6, 8, 10: 500 psig (35 bar pe)
/ \ EVR 15, 18, 20, 22: 460 psig (32 bar p,)
90° s Max. test pressure 650 psig (45 bar pe)
O [| Max. opening diff. pressure NC Valves AC DC
(MOPD)
EVR2-18 350 psig (24 bar pe) 260 psig (18 bar pe)
EVR 20 - 22 350 psig (24 bar pe) 230 psig (16 bar pe)
NO Valves AC DC
EVR 6, 10, 15 350 psig (24 bar pe) 300 psig (21 bar pe)
Soldering of copper connections
Refrigerant temperature max. 220°F (105°C)
_ min. -40°F (-40°C)
g% Ambient temperature max. 120°F (50°C)
£ min. -40°F (-40°C)
MOX.13000F MGX.3OOOF
(150°C) Identification of coil and valve
|
Valve TR o
Coil ‘
/q/
Code no. = 2
v*12 %la.c.) & ' Caution
. Hz ‘ Wiringland fusing (whep used). must comply with
e prevailing local and national wiring codes and
er w ordinances.
Transformer selection
Coil Inrush Holding
[Volt-Amp] [W]  [Volt-Amp]
208-240V ~ 50-60 Hz 76 175 40
110-120V 50-60 Hz 76 17.5 40
24V 60 Hz 76 17.5 40
120/208 V'  50-60 Hz 76 17.5 40
120V DC 23.0
© Danfoss A/S (AC-SP.kaa) 04.98 RI 3A N1 22 04-98

188



Tightening torques

EVR |Nm | kpm |ft—Ibs|Torx size
2-3 |14 |o4s| 1 | 115

DANFOSS
A32F277.14

EVR |Nm | kpm |ft=Ibs |Torx size

DANFOSS
A32F117.16

10,15,18(2.8 | 0.3 2 T 25

4,6,8 (1.4 | 0.14( 1 T 20

20,2212 1.2 9 T 40

Valve and coil construction, NC versions

°
o R
83 &

22 <

B

<mM

o< 3

EVR 2, 3 (NC)

o
G
i N7
h 2

4 =

b 3

°
W2 R
< NG awvvg
P
2 Faass
By
ESY
o< —

EVR 6 - 15 (NO)

Cut-away, NC versions
(Position numbers:
see Danfoss Technical Leaflet)

DANFOSS
A32F518.10.10

EVR 2, 3 (NC)

52 20

53

DANFOSS
A32F557.10.10

EVR 4 - 22 (NC)

Cut-away, NO versions
(Position numbers:
see Danfoss Technical Leaflet)
52 20 40

DANFOSS
A32F558.10.10

i
Ll!lj EVR 6 - 15 (NO)

RI.3A.N1.22 04-98

189

© Danfoss A/S (AC-SP) Kaa 04.98



032R9647

INSTRUCTIONS

EVR Normally Closed (NC)
EVR Normally Open (NO)

Refrigerants
R12, R 22, R502
Types .
EVR 3, 6, 10 (NC) EVR 6, 10,15 (NO) EVR 15 (NC) ’
" O
8 ; Coil Code no.
' = 110-120 V/50/60 Hz 1827512
EE;I o - 208:240 V/50/60 Hz | 1827511
EVR 3, 6,10 (NC) EVR 6,10, 15 (NO) EVR 15, 20 (NC) EVR 25 (NC) 24 V/50/60 Hz 1827513
Mounting PJ:':TD Operating conditions
EVR
o i <l N - e
=
Q ¢ '
|
| (NC)
: . . EVR 3:6, 10, 25:
_R Safe working pressure 500 psig (35 bar p,)
(SWP) EVR 15, 20:
460 psig (32 bar p,)
Max. test pressure 650 psig (45 bar p,)
' Max. opening diff. pressure NC 350 (24 bar p,)
Not Ecgm' (MOPD) NO 300 (21 bar p,)
mende Refrigeranttemp. max. 250°F (120°C)
min. —40°F (-40°C)
Ambient ‘temp. max. 120°F ( 50°C)
min. —40°F (~40°C)
Bracket mounting 990 Identification of coil
for EVR 3, 6,10 £2 H g
| o
Code no. Q ]
V19 (a.c)
; Hz '
Caution w
Wiring and fusing (when used) must comply with
prevailing local and national wiring codes and ordinan-
ces.
Transformer selection
. Inrush Holding
Coil Amp  Volt-Amp | Amp  Volt-Amp
208-240V  50-60Hz | 0.34 76 | 0.20 45
110-120V  50-60Hz | 0.66 76 | 0.39 45
Code no. 32F0086 24V B0Hz | 3.2 76 | 1.7 40
DI000200-1 RL.03.BC.22 5-1988

190

032R9647



Service kits code nos. EVR 25 (NC)

Repair kits

EVR 25:32F0238

Lock nut

Lock cap

M4X6 screws

3
&=

i

OJ

Plunger

M 8x25 screws

Gasket

i

!

ik

Gasket kits

32F0225

Gasket

Gasket

Gasket

= ‘
D

Piston ring

Gasket l"[':]'l

Gasket

Gasket

Gasket

Orifice '13\

Nm

itibs|

Compression spring

=
<=3

Piston

=

Gasket

Gasket

32K1218

Manual stem

DANFOSS
32F 127

191




Tightening of flare

DANFOSS
32F14411

Soldering

Max. 1300°F Max. 300°F

Remove coil (150°C)

before
soldering

Aim flame
away from
valve body

Service kits ¢ode nos. EVR 3(NC)

Repair kits Gasket kits
EVR 3:32F0230 32F 0220
l':oct nut =

ock cap =

=

M4X 6 screws

| § L
ib
Gasket Gasket

L]
Plunger ‘.1
=

2

DANFOSS
32F111,14

Service kits code nos. EVR 6, 10, 15 (NO)

Repair kits Gasket kits

EVR6 :32F0232
EVR 10 :32F0234
EVR 15 :32F0236

EVR6 :32F0221
EVR 10 :32F 0222
EVR15 :32F 0223
Lock nut
Lock cap

Spacer

(includes plunger)

=

=

NO unit D
[em———

Gasket Gasket
Diaphragm —aaban.
e

EVRE :M4X 10}
EVR 1015:M5 x 15

EI==IE
b=

DANFOSS

32F110,13

Service kits code nos. EVR 6, 10, 15, 20 (NC)

Repair kits Gasket kits
EVR6 :32F0231 EVR6 :32F0221
EVR10:32F 0233 EVR10 :32F 0222
EVR15:32F 0235 EVR 15 :32F0223
EVR 20:32F 0237 EVR 20 :32F0224
ll..ocl;nut ==

ock cap P
] 9]

4

Plunger D
Gasket Gasket
Diaphragm
T
EVRE :M4x10 —0r
EVR10,15:M5 x 15t SCrews

EVR20 :M8x16

DANFOSS
32F122.14

192




Diaphragm replacement

23
«
o]
e
z
<
a

32F113.10

Tightening torques
EVR |Nm|kpm |Ibf-ft
3-25[14] 014 | 1
EVR [Nm | kpm |Ibf-ft
6 |14 [014] 1
1015 (28 (0.3 | 2
20 j12 |12 | 9
Servo piston removal ¢ g%
, ' i
iy 38
[ >
!
(

193




